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MATHEMATICS By Pradeep Sic

. 2 .
3 @ Ql. A can do a work in 67 days while B can do
15 A o C-S:D-’ Yo

Ceg — lc§:p @3
3 A T BT 6- 351 A B2 A1 ¢ Tafas B IH BTl B

Lems 100 | 165 fodt & &2 Jasar 2, at deil fAese 38 &1et 3
— | fPaafRaAgEsEzaar

same work in 16§ days. How long (in days) will
it take if they do the work together?
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By Pradeep Sir

Q2. Acando awork in 72 days and B in 90 days.
If they work on it together for 10 days, then
what fraction of work is left ?

A 72 35 & vh 13 e TAhdl ¢ 312 B 3A 90 &t
A B¢ TAdhar g1 afe 10 2 & BT v T H1H
&Hea &, al BIA B fBae 3iel 9 AT ?

OF

OF



MATHEMATICS By Pradeep Sic

Q3. A can complete a work in 20 days and B
can complete the same work in 25 days. If both
of them work together, then in 3 days what
percent of the total work will be completed?

A TS B @t 20 R & e & dAbar & a2 B
&1 B 25 sl A Ye1 e dhar 21 afe 2ol f[AS®e
&1 &e, df 3 A o SI &1 fdden ufdera
&1 21 2 A9 ?

(A)9 (B) 12
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Q4. A can complete 50% of a job in 9 days and B
can complete 25% of the job in 9 days if they
worked alone. If they worked together how
much of the job (in %) can they complete in 9
days?

A 9 35t 3 50% HTH PRI & Adbdl & e B 9 fEal A
mmm.zs%?mmiluﬁam HHS
I Hed ¢l Afe d TP HA1 1A Hed ¢ at 9 R &

fdaen &1 (% &) RIS TAHATE ?

(A) 80 G EL

(D) 100
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Q5. Amar can complete a work in 7.5 days and
Raman can complete the same work in 12.5
days. If both of them work together, then in 4

days what percent of the total work will be
completed?

AT TH B B! 7.5 el A eI B2 Aharl g aAT
mmmaﬂiz.sﬁaﬁﬁqmmmémﬁ
dlall f[Ao®e 4 Ra &1d B¢, dl o H1A &1

ufdera &1 ge1 2 Ardom 2

(A) 82.5% (B) 80.1%

(C) 75.5%
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Q6. A can do 1/5th of a work in 4 days 1/6th of
the same work in 5 days. In how many days
they can finish the work, if they work together?

A f5eft &1 &1 1/5aT a1 4 s & e a@ar g, B
32t &1 &1 1/6aT 9T 5 RS A B Abar z1afle @
TS A1 fASHe o1 Hed £ al 38 o1 &I fhaa
RAfA IS ada e ?

(:) K{

(D)15
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Q7. M can complete 3/4 part of a work in 12
days and N can complete 2/7 part of the same
work in 8 days. In how many days will both
complete 11/14 part of the total work?

M TS BT BT 3/4 AHPT12 R A He AHdr 2 dATN
mm%7maﬁaﬁaﬁm | Sttt
T[T A 4

&1 1114 31 fdbaat R A B9 2

K

(c)7 (D) 6
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Q8. A can do 2/5 of a work in 12 days while B can
do 66 27. of the same work in 16 days. They
work together for 10 days. B alone will complete

the remaining work in:

A TH B & 2/5 o1 &t 12 Rt A srafds B 3kt
HId & 66 2/2191 B! 16 Al A Ye1 B AHaT 213 10
fe<il db v AT AT B B1d Bed 21 2 Hrd Bl
b fhda Ral & —

(B) 4days

OELLE
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Q9. A and B together do a job in 6.75 days and A
could do the job in 9 days if he worked alone.
How many days would B take to do the job if he
worked alone?

A 3012 B fASee v &1 6.75 faail & er dHea & 3ie
A & T &1 9 el A R1 B APbar 21 afe B
%ggizéggjinaiaszaTEﬂ:ﬁaWinalq@wiszéiifﬁaﬁﬁa

(B)18

(D) 21



MATHEMATICS

By Pradeep Sir
%
<3 32

Q0. A and B can do a job in 10 days
respectively. They worked together for two
days, after which B was replaced by C and the
work was finished in the next three days. How
long will C along take to finish 60% of the job

A 30z B &1 @ B2k 10 302 5 B & & a@a ¥
2ol b AT fASHe €t el d &1 &ed &, 3ad
d1¢ B & RATa U2 C 1A 391 dta faat & qzr 2 Aran

21 3PS C IF B BT 60% AT fabaat et A g
BN ?

(A) 30 days/fést (B) 25 days/feést

(D) 24 days/féa




MATHEMATICS

By Pradeep Sir

QIl. X can do a work in 3 days, Y does three
times the same work in 8 days, and Z does five
times the same work in 12 days. If they have to
work together for 6 hours in a day, then in how

much time can they complete the work?
e T—

X fheft i Bl 3 RaA s awar g, vy At s d &
et It &1 8 et A He Awar ¢ e z A FRA &
ui" I &t 12 ffat A & a®ar g1 Al 3 v Ty

ufdfdat 6 62 TS Hed g, al 351 grel BT B G
Heol A BITat aTST AAY SATd Hel

(A) 4 hours

B) 5 hours

C) 5 hours 20 minute
(D) 4 hours 10 minutes
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1> A ““g = @3 le.AcandoaworkinlAl%days.Bcandoitin
y g 1
- _? 16-daysand Dcandoitin 33-daysandA, B, C
¢ &> 13 @ ar:d D together can do the v30rk in 5 days. In
A - how many days C cando it?
) JN 333=)§ioo>3 |
@H . . A f52ft 1e1 D1 142 fRs1 & e TFar & B I w1 B
| T" ”j ? ls-ﬁaﬂaram%aanouﬂmaﬁss-tx B,C
Lem = 100 32 D fAes®e B19 B 5 el A B dSA £, al ©
CEORNS - AB ST IH B B! fhaa 2 A Heam?
@ C: 10 :&S‘b (B) 2N

(D) 40
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QI13. Sandeep do (% )th of work in 10 days, Kapil
can do 40% of work in 15 days and Devkaran
can do (1/3)rd of work in 13 days and RajKumar
can do 37.5% of work in 17days. Who is less
efficient?

&dly, 10 R & 1t &1 (2':) AT e Ahdl &, S
15 3l & BTt BT 40% He Al g1 30T TaBeUT 13
fail & &1t &1 (1/3) APT B Adal gl 3R TAGATE
17 35 & BT BT 37.5% HWT BT AhAT 81 ATd B

f& B TTA FAPLAGE ?
(A) Sandie;%gzg
(B) Kapil

C Jeyarar T4\

D) Rajkumar/[ZAGATE




A+BYC=>
Y}
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Ql4. Aand Bcando gof workinl2days,Band C
can do 16§ % the same work in 10 days & C and

A can do g in 13 days. In how many days A, B
and C can do this work together?

Asﬂzaﬁmmmmga{muﬁaﬁm
milaazncﬁmnﬂmameg%mm

fea A B2 THA 21 C TAT A AT HE TATA HTH BT —

T 13 R & B2 THa 21 3 diel Re®He B B
Heal A fhda Taa S91-

@ (B) 25 Days

(C) 36 Days (D) 20 Days




MATHEMATICS e el

Q15. A can do one-third of a work in 15 days. B
can do 75% of the same work in 18 days and C
can do the same work in 36 days. In how many
days will they alone the complete work?

A et &f & vH-fazTE &1 15 3T A &2 Tbar 2
B 32t &1 & 75% 9T 1 18 faa A 312 ¢ 3t &=
&1 36 el & B2 TAdar g1 dial [ASHe B Bl
fhaa et A B

(A) = aays/ﬁa’m (8) 2 days/Ref &
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(@ Q16. A and B can complete a task in 25 days. B
I - +% - 250 alone can complete 33%;& the same task in 15
days. In how many days can A alone complete
4
—th of the same task?
S - e - 33.5-/.;%:“.: 15 — e

A 3012 B fdeft f &1 25 foe & 1 ®2 AHa 218
mﬂmmmaiss;,bm ®115 3T 4 A T e

\s lem= TAhdl ¢, al 5iTd Bl A mmaﬂ'daﬂl“—saiaim

= A
A /\ﬁ' 15— @ (8) 10

(D) 12
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@ ol Q17. Working together A, B and C can finish a
i ¥ 31‘7 piece of work in 3 hours A finishes the same

work in 8 hours, B finishes it in 6 hours. How
3> A — R he :::rgk:vill it take for C alone to finish the same

Yy = 8 =5 (¢ he & A1 BT Hed ZC A, B 312 ¢ fheft srf &1 3 52
L A TATE B2 THA 21 A ST 30 B B! 8 52 A
Cmzy AT Hedl g, 3112 B 3P ST1 3A 6 He A AT Hedl

2 ¢ 3T BT B fbaat
C - 2\ He A AT HeIl ?

i (B) 15 hr/ee
' (D) 12 hr/®e
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Q18. A can do a certain work in 15 days. B is 25%
more efficient than A. Both worked together for
4 days. C alone completed the remaining work
in 8 days. A, B and C together will complete the
same work in?

ATSE fAfda Brd &1 15 Rl A Fe TAHaT21B, A A
25% 38 FHers gl alall of fAede 4 Rl @ &
far ¢ & 3P 29 oA 8 st & yer fhan A, B

312 ¢ Ao ®e 3 &rd &t e 3 A ger®Hean 2

(A) 4% days/fé=t (B) 6% days/féat

@ (D) 4 days/f2=t
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By Pradeep Sir

Q19. A and B can complete a piece of work in 15
days and 10 days respectively. They got a
contract to complete the work for 75000. The
share of B (in) in the contracted money will be:

A 312 B fhft &1a1 B HALI: Isﬁa’taﬁzloﬁ?ﬂzﬂ

gleanmilwmaﬂnsooo zﬁ
It bl (Picae) AN 56 &t aaasr

fezan (z &) 2m:

(A) 35,000 (B) 40,000

@ (D) 30,000




LW _
on P
e = B — q(ﬁ:@
o )0
S V) (Cen =
B80 00
A<= 23 Xa?'
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Q20. A and B can complete a piece of work in
4.5 days and 9.9 days respectively, They got a
contract to complete the work for 80000. The
share of A (in) in the contracted money will be:

A 3012 B faseft @11 &Y Hatel: 4.5 faail 3w 9. 9ﬁta’ta1

gmmilmmaﬁzsoooo agl
Io¢ obl (Picae) AN & & :iansr

fezan (2 /) 2om:

(A) 2 45,000

(c) 240,000 (YEELL
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Q21. If A had worked alone he would have taken

“ 4 R 5 63, qx;, 63 hours to do the task. What is B's share, if A
and B work together on a task finishing it in 36
hours and they get paid Rs 5,950 for it?

TERye 3¢ L”""'*‘f afe A & 3rbes 1A fbar giar at 9 BT Head &

j f3T 63 He SdTI B &1 f23HT T E91, 3P A 3T B
T AT HTHA Hedb I 36 e A T Hed & 30
@ Lem = 4xARy 38 AT 5,950 TUT &1 APTdTe fHATATATE ?
R¢o (A) 3400 (B) 3600
R - S2S0

> 2] | (D) 2750
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Q22. swati is 50% more efficient than Priya and
together can do a piece of work in 6 days. Rathi
alone can do the same work in 5 days more
than Priya. If Swathi gets a share of 1800.75,
then find the total share Swathi, Priya and
Rathi working together?

m?ﬂfamasov..
6 et &

g & Foredt fesd %
Z 1800.75 '
Hoigel Sitd HifAd 2

A) 23901.62 (B) 25,201.62

(C)23,601.62 (D) 5,401.62
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Q23. A can do a work in 8 days, B can do the
same work in 10 days and C can do the same
work in 12 days. If all three of them do the same
work together and they are paid Rs 7400, then
what is the share (in ng of B?

ATH HId hl 8 R A deaAbare, s3dt srd o110
Rl A v Abare daTc At s B 12 A &2
THdl g1 afe d dief 380 &1 &1 T A RS s Hea

£ deT 3oz 2 7400 . fRe T1d €, 4t B &1 2z (5. )
faar gom 2

(B) 3000
(D) 2000
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Q24. A, B and C individually can finish a work in
6, 8 and 15 hours respectively. They started the
work together and after completing the work
got Rs.94.60 in all. When they divide the money
among themselves, A, B and C will respectively
get (inRs.)

A, B 31T C & fdeft &1at &I waer: 6, 8 312 15
Hel A U1 e Adhd ¢ Taft A ve Al ST 2 faban

3112 BT AT &It Ue Ioz 2 94.60 fAS| Ha sual
&1 fdanfaa fGaraArA at A, B, ¢ &1 2T aara3i|

a) 44, 33,17.60 (b) 43, 27.20, 24.40

(¢) 45, 30,19.60 (d) 42, 28, 24.60
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Q27. Working alone A can do the task in 27
hours and Bcan do it in 54 hours. Find C's share
(in Rs) if A, B and C get paid Rs 4,320.20 for
completing a task in 12 hours on which they
worked together.

HBS HIY dbed &€ A 27 5 A B &I JET He Abhdl
£ 32 B 3& 54 °U¢ & e AHdl gl C BT fZ&am &=
ZON Al A, B 32 ¢ B1 12 52 A TF BT 2T Head &

(B) 960.06
(c)1920.06 (D) 1280.06
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Q28. Sandy and Mandy do (8/13)th part of a
work and the rest of the work was completed
by Andy. If Sandy, Mandy and Andy take the
same work for Rs 2626, then what is the share
(in Rs) of Andy?

A<t a2 A v & &1 (8/13) T AT B PRI Hed
%’amehmﬁ'ﬂasgm(lt%rmmzlgﬁ

A& qon 0f 3Tt B Bi 2626 F. A a2, at 0

&1 f2aa (&. R) fhaan gen ?
(A) 1600 00

(c)soo ﬁfiﬁb
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S+°P
PrA Q29. Samir and Puneet can complete the same
<D work in 10 days and 15 days respectively. The

work was assigned for 24500. After working
together for 3 days Samir and Puneet involved
Ashok. The work was completed in total 5 days.
What amount (in) was paid to Ashok?

Haf1e 30T Yefla HaATal BT Bl wHarel: 10 e 30 15
fesit & ge1 e Ada &1 B 24500 A 3mafea fdar
1T T1 3 35 96 T A1 HTA Heat & dIg dAdle
3H1e Yefld &t 312il® &1 e fhaTl BT Hes 5 fasil

& ge1 faban Iram sreites &Y fabastt aifel (2 ) &1
TdTel fasar Irar ?

(A) 1071 OI»

(c) 800 5) 1500
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Q30. Amir and Akbar can finish a task in 30
days and 15 days respectively. Akbar worked
on the task for 8 days and left the job. In how

many days can Amir alone finish the
remaining work?

AL 312 3(Phae TP HIA el 30 32 15 fat A

& Abhd 21 Phae o 8 3 ah =8 T BTA Bt
a1e &1d Biz faan ardt T2 &1 &t nfAz fhaa

Rt A s adare ?

(A)14 days/ fe= (B) 15 days/ fé=1
(c) 16 days/ (D) 17 days/ fé=t




MATHEMATICS

By Pradeep Sir

Q31. A can complete some work in 35 days and
B can complete the same work in 15 days. They
worked together for 8 days, then B left the
work. In how many days will A alone complete
60% of the remaining work?

A, feft & &t 35 et A &e Twar ¢ 3ie B I
&1 @1 15 3 A Y21 &2 Ahar 21 Isgial TP A1 8
fest a& & f&a1, 39& a2 B A &1 Biz 3

HHS A 29 BT & 60% AT Bl fbaat fdar A e
B ? -

(B)10
K
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Q32. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A dAT B TH &1 ol fAG®e 20 a1 A g1 B dhd
21 U AT BT HeaAT L Hed & ueq 4 Rl &

d1C A &1 BIE 24T 21 219 &1 B b1 24 3HfAfl®
faail & qe1 Hear 21 A Tl BT B AT fhaat
Rt A eI s adars ?

(A) 75

(c) 45 @
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Q33. A and B together can complete a work in

2
6- day. They started together but after 5 days A

left the work and the work is completed by B
after 6 more days. A alone can complete the
entire work in how many days?

A dI1 B U H1 &1 fAede 6- faat 3 ge1 e Jaba
213 U AT B Heall A Hed & Ueq 5 fAail &

R AGIBIE eI dAT AT HIA B e A
2%3 31z S91a &1 A 3BSL gmam;as’tﬁmﬂ
A GRIHe ABATE ?

(D)=
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Q34. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A dAT B TH &1 ol fAG®e 20 a1 A g1 B dhd
21 U AT BT HeaAT L Hed & ueq 4 Rl &

d1C A &1 BIE 24T 21 219 &1 B b1 24 3HfAfl®
faail & ge1 Hear 21 A Aol &1 & A>T fhaa
Rt A eI s adars ?

(A) 75 (B) 25

(c)as (D) 60
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Q35. A, Band C, alone can do a piece of work in
— A - 9> 9, 12 and 18 days respectively. They all started
the work together, but A left after 3 days. In
how many days, was the remaining work

( >R - |a> completed?

\ 2/ ¢ A, B 32 C 3rdbes faeft &1 1 Haer: 9, 12 312 18
> IRD fésit & guf e aha 21 31 Aaft A Ao we &l 3meal

féar, 3 fasil & a1¢ A &t &1 Bis faan 2y s

e

T ——

3 52y fasaet faail A qui g ?
(a)2 (8)-
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Q36. A and B together can do a piece of work in
10 days. B and C together can do it in 15 days
while C and A together can do it in 20 days.
They work together for 8 days and A & B left the
work. C alone will complete the remaining
work in:

A 3112 B fAo®e fhet &1a1 o1 10 5 A B2 dha 21
B3RcfAoae i srai i Is Rl A e aAha &
wafds ¢ 32 A fAe®e 38 20 Rl A He a®a 13
Tt s R ah CH ATA BTHA Bed & dATSAS dIC A
312 B BT Blgdhe I Alld 21 C A 219 B Bl
faat f3ait A ger e 2

(A) 12days (B) 3:days

i ey
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Q37. A can do 20% of a work in 4 days, B can do

33%%# the same work in 10 days. They worked

together for 9 days. C completed the
remaining work in 6 days. B and C together will
complete 75% of the same work in:

A faseft &1l 1 20%, 4 @51 & ge1 e TAHar 2, B 3=t
s S 3 loRA AP I asar2IdoRa &

3T ve a2l srf &ea 21 ¢ 9 Hrd &t 6 st A Qe
Hedl 21 B 312 ¢ v A1 3t &rf &1 75% fbda
fear A QT Hear?
(A) 12 days/ fés (B) 15 days/ fés

(D) 9 days/ fé=t
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Q38. A, B and C can do a job working alone in
50, 75 and 20 days respectively. They all work
together for 4 days, then C quits. How many
days will A and B take to finish the rest of the
job?

A, B AT C H&HS BIA Hed gC faelt BT &l Hael:
50, 75 31T 20 3=l & ge1 He 3a €1 3 Taft o fEw
TS T1Y HBIA Hed ¢ dei fbe ¢ 1 Big a1 g1 99

ZCHIA B A dATB fhaa Rl A I H 3 2

(B) 30

(c)s (D) 24




10 - N\ - 6
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Q39. A, Band C can do a job in 6 days, 12 days
and 15 days respectively. After % of the work is

completed, C leaves the job. Rest of the work is
done by A and B together. Time taken to finish
the remaining work is

A, B 312 ¢ fbft &1 &t Harer: 6 a1, 12 f*a1 3z 15
RadEiseasd - A S R AR S A C

1A B2 31 21 N BT A 3T B 91 Hed g
2y &1 YR1 Heat A fbdett da SIn 2

(:)) 6% Days

(D) 3% Days
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Q40. 3 men A, B and C can complete the work
in 10, 12 and 15 days. A, B, C start work together
but A left the work after two days. and B left the
work 1 day before the completion of the work.
In how much time the whole work will be
completed?

3 3(1eaft A, B 3112 ¢ fhet 131 B HH21: 10,12 31215
ﬁaﬁmmilzﬂa’fmaﬁmmm:g

Hedz 2 RS 91 A FIA BTGB AST ATAT 2
qu;gzﬁaiﬁammmgém%um
BTA T 2 A fhdaT AT SIN ?

(8) 2

(c)e (D) 5
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Q41. 3 men A, B and C can complete the work in

ll%, 9% and 11 days. A, B, C starts work together,
A and B left the work 2 days before the

completion of the work, then the whole work
will be finished in how many days?

33na?ﬂA,33ﬁzcﬁreﬂmaﬁamet:n§,3ﬂzsﬁ
W, e A B ada g1 dtat & &y

(con— 110y | o 2[& 5T A 3012 B & ®1e1 T 8t & 2 R

UgS BIA deel BIg fadl, al garsi ge1 &1e fhaa
RaAT=rgan?

'S'\‘l) N
() 4=

(D)7
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Q42. A, B and C can complete a work in 8, 16
and 24 days respectively. They start the work
together and A works till last moment. If C
leaves the work 2 days before and B leaves one
day before the completion of the work, in how
many days the work will be finished?

A, B a2 ¢ fhedt &1a1 &1 a2l 8, 16 daT 24 Ra A
AT He Abd ¢l diall ATY fRASHe B 3

&ea £ 9T A 3ed db &I Hedl &1 C BIA TA 2l
A 2 351 UZS 9 B 19 A 21t A U faal UgeS B
BIg 2d1 § Al 9a1Ed $© B fbaa feal A Fema
g3il-

(A) 8 days/ fé=t

(c) 6 days/ fe=t (D) 7 days/ fé=1
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Q43. A alone can complete a task in 10 days. A
and B worked together for 3 days, after which C
replaced B. A was 50% more efficient than C.
After A and C had worked together for 3 days.
13% of the task was incomplete. In
approximately how many days can B (working
alone) complete the entire task?

A 3&S Bt &1 B 10 e F g1 e AHaT 21 A
Td B o 3 faa1 v Aty &1 fhan, dIEB®HIC

o ufdznfia fanla, ¢ % 3ffekp Hrdesr 2 A
TdC m%%?@maqﬁama
&I fhaa el A 9 &1 T T He

/

(B) 64

(D) 20
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Q44. A and B working separately can do a
piece of work in 10 days and 15 days
respectively. If they work on alternate days
beginning with A, in how many days will the
work be completed?

A 312 B fd5eft BT &1 3e591- 3591 wael: 10 faat 312
15 31 & Q@1 e TAwa ) afe d vhiae Ha & S
®ed g, A BId B! Uge 3 2[& Fedl &, al S

faseet faeit 3 gz 2 e ?

(A)8 (B)6

(D) 16
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@b 1S | 12 /I3 T
Q
5 —h - 3-Q

> 3 A 3012 B 31 3 faselt dare &1 fAatfor warer: 62

2D — 23 Leme 100 | HE B RAFABzEDAEIA A 2 e, AR A T-

| TR A v R sl Hed 2, A fbaal Bl & fare
| X3 &1 fRST0T Q=T 2 Srean 2

By Pradeep Sir

. . 2
Q45. A and B separately can build a wall in 67

1 .
and 8- days, respectively. If they work for 1 day

alternatively, starting with A, in how many
days will the wall be built ?

19 15 (A) 7; Days (B) 12§ Days

; :':" 3 @ (D) 6 Days
3
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Q46. Machines A and B always operate
independently and at their respective constant
rates. When working alone, Machine A can fill a
production lot in 3 hours, and Machine B can fill
the same lot in x hours. If A and B worked
alternatively, while each work for 1 hour at a
time, the total work gets completed in 4 hours.
What is the value of x ?

FHeft A a1 B Tda &9 A 3Teil-31dsft B aferar
A &1 Hedt 81 A2Mlet A 3F5S 3 °1e A Hrf Hora
e Al &1 a1 Fefter B HTe &1 &Y x el A &e
Ahdl g1AMe A dATB Hfds U A 1-1 S B &2 al
m:mz’tﬂmz’tml x 1 AT SATd

?

or D

(c)a (>
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Q47. Two women, Ganga and Saraswati,
working separately can mow; a field at 8 and 12
hrs respectively. If they work in stretches of
one hour alternately, Ganga beginning at 9
a.m., when will the mowing she finished?

2l ARSIC I 31 TATEadl HSIT-HSBI B Hedb
BAS a2l 8 3T 12 Hel A &I Adhdt g1 afe a
ariel-aet @ vH-UH Hel B &e dAT I 9 §A

B BICHl 2[& Be dl Beoll Bd db HATd &l
aresfte

(A) 5:30 AB) 6:30

(D) 8:30
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A - 3
6 — ,::_: , _? <Y Q48. A can do a piece of work in 40 days while
i 1= E 5 B can do the same work in 24 days. If A works
on those days, which are prime number (Eg, 2,
3, 5, 7, 11 and so on) while B work on each day.
On which day will they finish the working
together?

3—- A - Yoy .

5-’ B — Yy

Lcm= |20 | ATE &H B 40 et H Qo1 Heat § 7afd B 38 B
@1 24 351 A ge1 Hear 21 Afe A 3 fEal B Hear

ot &5 3= &&= € (Ad:- |, 2, 3, 5,7, 11 sife
Eﬁ’ - ‘% Adfeb aﬂa(rm%lmaa?mm%

ECATATB féat &rf FaTa Hea 2
Al g

— o A) 15 (8)18
IS d (D) 24
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By Pradeep Sir

Q49. A and B start working on a project. They
work alternatively with each of them working
for 3 days. If A starts it takes 10 days to
complete the work. If B starts it takes 1/2 more
day. Find the number of days in which they can
finish the work if they work together.

A 312 B TS BT 2[& Hed ¢l A 3ie B diar-dia fRat
& AT vdhiae B A &1 Hed &1 Hid 10 3 3 ger

2ia1 2 afe A &1 Wiesl H2a1 & AT B g1RT B Wiead
&eal T2 B qeT g A 1/2 a1 &1 sifdles T
SITdT &, dl 3i1d ifare P at 2l fAeae fhaa e

& BT YT HE 391 ?
(A) 6% days [ fés1
() 5; days [ @1 (D) 5-days [ Tez
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Q50. A and B can finish a work, working on
alternate days, in 17 days, where A works on
the first day, similarly they can finish the work,

. . 2
working on alternate days, in 17; days, where B

work on the first day. C working alone, can
complete the work in 35 days. In how many
days can the work be completed when A, B and
C work together?
A 3012 B Udbloae Nare s & &1 $ed gC, U
&1d &1 17 e A JoTa &2 THa &, Al A U faa
BT Hedl &, 3t UBIRE & vHTeae feal A B Hed
g€ ®1a B 17 sl A ge1 &2 7wa €, ol ves R
B 131 ®edl &1 C Hdbe Il ded ge 35 s A S1a
®¢ Abdl £l A, B 3Z C TH A1 fAase fdaa
ABARI B ADAE ?

@s (B) 7.5 days
7 da (D) 5days
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By Pradeep Sir

Q51. A, B and C working separately can do a
piece of work in 11 days, 20 days and 55 days
respectively. In how many days the work will
be completed if A is assisted by B and C on
alternate days?

A, B 3112 C faaft &1 Bt 3rS9T1- 31591 HaA2: 11 2,
20 f2a1 3112 55 faa A H2 Aba 21 fbaa feal A s
AT & ATEIN, T2 A Chide FA A B 32 C & AT

BIA Be ? =

(A) 2 B) 6

(c)a (D) 8>
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Q52. C is twice as efficient as A and B take three
times of time of C to complete the work. A
alone complete the work in 12 days. If they
work in pairs (eg- AB, BC, CA) and AB on first
day, BC on second day and AC on third day
and they work in same sequence then in how
many days work get completed ?

c &l SsrRferar A & a9l & a2 faset H1er Bt QI
A AB, C Il ARG Sl gl BT A It
"1 B 12 31 A g1 wear 21 af? @ 72 A &1et ea
¢ (AA- AB, BC, CA) Uga f3a1 AB, g2 R+ BC,
ditae Rs AC AT 3 USTE IF el dodl &, dl Bl
&1 Q1 81t A fdhaat f3at &1 Jarg S9m 2

(A) 6-days (B) 4.5 days

(D) 8days
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Q53. A, B and C can do a piece of work in 10, 20
and 25 days. How much minimum time should

10 & A S Jop be required to complete this work if more than
|two persons can not work in a day and in any

5 @ — 209 two consecutive days same pair can not work?
bWeC - 253 A, B 32 ¢ faseft &1t &1 10, 20 312 25 RaT A @@
Lem = 1o ®ed gl 38 BIA Bl TAcH Heal A bdell sgeldd

AT |afe v ot & 2 A mer &I A
2P — q %mmﬂa%maﬁ
lng lxz :
6y — O (B) 6 days )
13 (D) Noneof these

Ly \,b-'-’-
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Q54. A, B and C alone can finish a work in 10, 12
and 15 days respectively. They managed to
complete 1/3rd of the work in 3 days. Now they
decided to take a leave of 1 day and work
alternatively either in pair or individually. Then
find the minimu of days required to
finish that task (Given, All of them do not work

together)
Lcm=¢6o A, B 312 C 3%} TS HIal &I watel: 10, 12 312 15

fRst & qu1 ®2 APa 21 gl 3 AT A /3 1A P
(ord = Qo &e 3 3T 37 1 Rar &t S BT BAST

3 far 3z dsfcds =u & a1 at Wit & a1 aafsaa
2 U A 1A B B BAS (ST TE B HaA A HaA

— < fsaa foat & QeI &1 A ¢ 2 (diell v &1l BT
dy il ®ed 2l)

3R (A).3% days (B) 6% days
. é'; N (D) 8% days
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By Pradeep Sir

Q54. P is 20% more efficient than Q. If Q alone
can finish a work in 10 days, then in how many
days P alone will finish the work?

P, Q & 20% 3ifd® HdFer gl uﬁcgmlﬁwﬂ
aﬂmﬁﬁﬁ'?aﬂmta’tpmm
&1d &1 fdsdat faail o ger eI ?

(B) 8.5

(D) 12
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Q56. To do a certain work, the ratio of the
efficiencies of Aand B is 7: 5. Working together,

they can complete the same work in 17% days. A
alone will complete 60% of the same work in:

B3 foAfda & seat & B A 3z B &t &
PerSdl &I Heurd 7 : 5 £l THh a1y fASse s

®ed ge, @ 3t &rf &t 17 fRar & g1 +e dda

3FS A 32 BL B 60% fHaat fRaAgersm?

() 16 days

(C) 21days (D) 15days
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s
5 Q57. A is 25% more efficient then B. A works for
'D' days and completed 1/ 3 of work and left the
' P l e work and Remaining work is completed by B in
D 'D +12" day. In how many days A and B together
can complete the work?
EX KL A, B & 25 Ufdera sifdle $era ¢, ADIE s D Ra A
U(DP+Q) 2 Hedl & 31T B BI U [dels el dedl & g BId
Bls &ar g1 ¥ &1 B, D 12 f3s1 & Y1 Hear g Sal
102243 + 4 fAose fbad fRa AP RIHcADA & ?

€2 =\ gl
@ (A) 15 days B) 13; days
(C)12days (D)1 S days
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By Pradeep Sir

Q58. B is 20% more efficient then A. B start work
and do x day and after then B replace A. A
complete the remain work in (x + 8) days. Ratio
of completed work by A and B is 3: 2
respectively. In how many days A and B
together complete the whole work?

B, A & 20% 3iftles Hrfesl 218 A Hrafésr faar vd x
fesll a& &1 fd5an 38& a1 B il TP A H1A
®eal BIN A A 219 BT (x + 8) fat & ger fasar A
Td B gIeT fbT I1C 11 T 3eUid 3: 2 81 A 3T B

arait 34 B3 B fbdal feol A TATE Hel ?

(A) 13=day (:)) 1217—1 day

7 8
-day (D) 12— day

C) 13—
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By Pradeep Sir

Q59. P is four times as efficient as Q. P can
complete a work in 45 days less than Q. If both
of them work together, then in how many days
the work will be completed?

p &t &131aT Q & TR I 21 P Uh I & Heal A Q
& g1 3T e T A 45 a1 Ha a1 21 afe =t
fAs®e B1d ®ed € al B febaat fasil 3 Y1 §19m 2

(c)1s5 (D) 30
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Q60. A and B complete a piece of work in 20
days. They both start working together and
after 8 days, A got ill. Due to A's sickness, A's
efficiency fall down by 40% and thus the total
work completed in 24 days. Then find in how
many days B alone can complete the
remaining work after A got sick. ?

A 312 B &1 TS &1 Bl A 20 foa S91d E1 2 vh

T BT 2[& Hed ¢ 3 8 f3at a1e A diame & wran
21 A &t ftaArdt & Hrer TS gerar 40 widera s
AR a4 RAA R A A A S
diaTe B & d1¢ B T91 30T BT Hdbes fbdat fdal A
gl e 39N ?

(A) 31days (B) 34days
(C) 20 days (D) 32days







MATHEMATICS

By Pradeep Sir

Q61. A and B started a work and worked on
alternate days. If A starts the work first, the

whole work is complete in 33§ days, while if B
starts the work first, the whole work is now

completed in 33% days. Find the percentage of
efficiency of A with respect to B?

A 312 B & BT31 2[& fd5aT 3112 HaTTd &0 & TH-TH

fast &f ®ead 2l afd A F B 2[ Hear € at Gl
®1e 33 At & FATTa g e wafd af B we

ega:m% at Q21 1 33 f3s1 & qrr 2an 21 8 6l
qmﬂAﬁuﬁemammaaﬁﬁ'&

(B) 50%

(D) 75%
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a 2 y Pradeep
Efe & e Q62. A is 1.5 times efficient than B therefore
E€ d 1 2 takes 8 days less than B to complete a work. If
T K 3 A and B work on alternate days and A works on
’il&LLj first day, then in how many days the work will
3. be completed ?
3L5A —.axﬂ =162 A, BAL5 ;Jvnamg;m% EE"BUHEWEFME\
a4 & Sl gl A 9T B THide
258 81 oA wmmiamAmaﬂmﬁam%
' dl B fdaat fdat A ger 8 AATeIn 2
Ao — s ()17
(c)19.5 (D) 21
X9 Xq
1RD — Y$
E —ud

192 ®
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Q63. Two workers ‘A’ and ‘B’ working together
completed a job in 5 days. Had ‘A’ worked twice
as efficiently as he actually did and 'B' worked
one-third as efficiently as the actually did, the
work would have completed in 3 days. In how
many days could ‘A’ alone complete the job?

2l BN A 3T B A TH AT fASTH TH 1A 1 5
féat & ge1 fdsam af? A & areaa A fAa srdfeEEar a
&1 fbar 3aa Srderarar @ oA fbar gar
B A AT A HrAerarar @ & fbar 3adt
voh-faere srdererar @ &ord fbar giar, at & 3 =
& Y21 81 ATaTI AHST A I8 B &l fdbaa st A gt

(A) 3%.days (:)) 4% days
(9] 5% days (D) 6% days
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Q64. The efficiencies of A, B and C are in the
ratio 2:5: 3. Working together, they can
compete a task in 9 days. In how many days
will C alone complete 40% of that task ?

A, B 312 c &t geransil &1 3requra 2: 5: 3 213 diel
TH B @i T A1 fAS@e 9 Rall A 1 & ddbd
£1C 3 38 BIA & 40% HFT B fsit 3 ger

(A)14 (B) 16

(c)15 @
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Q65. The ratio of the efficiencies of A, B, C is
7:5°4 Working togehter, they can finish a work
in 35 days. A and B work together for 28 days.
The remaining work will be completed (in
days) by C alone.

A, B 32 c &t gararsil &1 3fe[urd 7:5°y21 Th T
&I Heal Ue 4 dicil 38 HIA i 35 @ A ge1 e
&d 21af2 A 30z B, 28 3ai a& &1 Head g, at 2y

&1d &1 ¢ fdsaat fRa A T HeIm 2

(B) 63
(D) 60
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Q66. A is 50% more efficient that Band C is 40%
less efficient than B. Working together, they
can complete a task in 20 days. In how many
days will C alone complete 30% of that task ?

B &1 e A A 50% ufﬂaszeiiaﬁzaiﬁgnif
C 40% & g&f g1 THh A1 B heat Uz, d dieil vh
&1 B 20 3 A GR1 e AFA €1 C BT 38 B
&1 30% fbaat f3ail & Qe Heom 2




MATHEMATICS s Pk

Q67. A is as efficient as B and C together.
Working together A and B can complete a work
in 36 days and C alone can complete it in 60
days. A and C work together for 10 days. B
alone will complete the remaining work in:

A ST IdeT 28 & fAaa & B 312 ¢ a&l f[Aa®e
H1H Hed &€ A 3 B fdeft &rf &) 36 Rat & gt
Hed £ 32 C 3P I Hrd &1 60 31 A He Abar

21 A 3112 ¢ Stel f[Ae®e 10 e a6 &1 Hed 218
eI STl i 35S et faat A qer weam 2

(B) 88 days
(D) 90 days
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By Pradeep Sir

Q68. If 8 men can do a piece of work in 14 days,
then in how much time (in days) will 7 men do
the same piece of work?

afe 8 Yoy fheft wrar B 14 Ra A I s awa £,
7 95y 381 &1 ol fdsdat era (31 A) e 2

(SRE: (D) 20
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m*_’i'. = M2xXd,x Hs
Wi wy — Q69. 38 men can complete a work by working 6
Hrs per day in 12 days then calculate in how
many days 51 men can do double of the work
by working 8 hrs per day?
S8m |, 12xe d A
38 3Meat 6 T ufdfdst Hret Heds fbet Hrer 31 12
51 em 3/ \5 3 fest & T Hea 21 5a e & 51 3nesft 8 gue
~ ufdfdet &1t Hedb I8 A el HIdA fdbdat f3a1 B
EX R Y N _
ys 3) 228/17 days
S ixxxe <QR (c)14days (D) 128/T7days

1} SV
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Q70. 6 persons earn 8,400 in a week, if they
work 8 hours per day then how much amount
would be earned by 9 persons in a week if they
do the work 6 hours per day?

afe 6 aafdh 8 He ufdfest & ded ufd TaE 2
8,400 3ifHd Hed £, ot 9 IAfHAl greT 6 He ufdfes
&1 Bk ufd Aaig 3ifdAa Ht A arest 2ifel 2ft-

(8) 21,350

3,000 (D) 27,200
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Q71. 40 persons can do a work in 15 days if they
work 8 hours per day, then in how many days
60 persons can complete the double work if
they work 4 hours per day? If the work done by
3 persons of first type in 2 hours is same as the
work done by 4 persons of the second type in 3
hours.

40 313t 8 gue ufdfest B Hedb TP HIA B 15

fs1 & ®e dwa €1 ad 60 gt ufdfder 4 gve HA
Hed IAA NGl B fabdal fasl A WA Hedl ? Al
UESS! WehTe & 3 Tgat 2 Hve A IdeT € e Hed 2
foraen g 4 aufdh 3 ave A Hed 2

(A) 25 days (B) 30 days

1 (D) 35days
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Q72. If 6 men and 8 women can do a piece of
work in 10 days; and 13 men and 24 women can
do the same work in 4 days, then what is the
ratio of daily work done by a man to that of a
woman?

afé e 32 8 ARSIC v &1 &1 10 e A

areaa;'!g%mmgmaﬂzumnﬂmg
4ﬁaﬂ'qmaﬁzm%’,a’twﬁaifm%ﬂ§m
fbT I1C H1 &1 vH a1 A v ARSI greT e Ie

SIHA A AUTA TATE ?
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Q73. 35 persons are engaged to complete a
work in 60 days. After 32 days it is observed
that only (2/5 th part of the work has been
done. The number of persons to be engaged to
complete the remaining work in the said
riod is
amf &1 60 fdal & qR1 et & AT 35
BLSINAT ATAT 21 32 Bl & a1¢ UaTt Iadl
%ﬁsasrd‘aﬂ ua%s)mmﬁ &1 uT 2
2y &1 &l IH A QRT Heat f%c faat
fhal &1 ATdeadmar 2ft 2

(A) 20
(c) 30
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Q74. 2 men can build a wall in 12 & 11 hrs
respectively but if they work together then
they use 300 less bricks per hour & build a wall
in 6 hrs. Find the no. of bricks in the wall.

&1 31g3Ht v diare &I HHek: 12 9AT 1 HE H ol
APd g1 Bfdsel o1d I el A1 HIA Hed &, al 300
3¢ Ufd T Ha SFINA £ 3T dlar Hi 6 6 A Fon
A I AR g A P del Ht AT ATa e ?

(A) 41526 (B) 39600 >
(c) 25632 (D) 42600
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500 25 m | Qo D Q75. 25 men can reap a field in 20 days. When
should 15 men leave the work, if the whole field
is to be reaped in 37- days after they leave the

Wx 25 m ) x* work? ’
3¥S  jom | 3359 25 3153 Teh WAd &1 20 a1 A vl dwa 81 at St
&HIfAA 15 3eaft fbaa fRe1 a1 & 813 ¢ & sa&
500 =25x+323¢ aTe 2 3reeft Q11 3 37, Ra A vta 7 2
12§ = QS X (A) After 4 days (B) After 6 days

@ ( (D) After 3days
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Q76. 4 girls can do a piece of work in 8 days, 3
boys can do the same piece of work in 2 days
and 5 women can do the same piece of work in
4 days. Who is least efficient?

4 S3fdal B &1 8 fAall A e Tl g, 3 53
zeft B1e Y 2 f2oN & Be TBA £ 301e 5 AT Zait
B DI 4 3ai A GR1 B¢ AdGdl &1 TS HA g8l Dial

2

s (8) cirts | ssfsa
(s frotiddg o
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N And
>y Q77. 20 men or 24 women can complete a piece
of work in 20 days. If 30 men and 12 women

0 = |2y \ x

By Pradeep Sir

under take to complete the work, the work will
be completed in:

20 USY AT 24 ARSI et & &t 20 Rt
HAT BHe APd &, dl 20 Y& dAT 12 31 &1 Fe,
dl &1 fdaat fRaH A T &9 2

m (B) 42days

C) 45days (D) 46 days

A= 23 ay
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Q78. If 7 men or 10 women can make a 100
meters wall in 10 days, in how many days 14
men and 20 women can make a 600 m wall?

7 3Teat 3120@aT 10 3ied, 100 ez &t darz 10 A
A Fo1a £, 14 31T F2uT 20 31 [ASHe 600 ez
oadt dtare fbaa faa A It -

(A) 12days/ fRst (B) 10 days/ 2=t

(c) 18 days/ fé= (C (D) 15 days/ ;ﬂ?j )
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By Pradeep Sir

Q79. If 1 man or 2 women or 3 boys can
complete a piece of work in 88 days, then 1
man 1 women and 1 boy together will complete
itin

uﬁl;ﬁﬂmzfaﬁm:sagasﬁﬁﬂmaﬂsa
fesit A ®e @Awa g, dt v yey, ves &t aun v

SBIH1 (RSB UH H19 B fbdal (el A T BN ?

(A) 36 days (B) 42days

(D) 54 days
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mz= 6
w=U Q80. If 40 men or 60 women or 80 children can
= 3 do a piece of work in 6 months, then 10 men, 10
y LWorm = Cow = gob € women and 10 children together do half of the
— ™ | workinhow may months?
lom+ Nw ok & x uﬁ4og&umsomﬁmvmaoaﬁﬁ:1ﬂmaﬂ
®e ddbd &, at 10 g::mm aﬁm
det 10 ¥ fAG®He 3 A B
Yoréx 1% € xR TATE B ?
Go +\Y4 o + 32 R}
(.\ (A (B)6
B 1
oy, @55 e) 15

x
¢ X

_‘
“}9\ 3
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By Pradeep Sir

Q81. 28 men can complete a piece of work in 15
days and 15 women can complete the same
piece of work in 24 days. What is the respective
ratio between the amount of work done by 30
men in 1 day and the amount of work done by
18 women in 1day?

28 q&Y fdeft &1a1 &1 15 Rt A ¢ Add & vd 15
HAfzo1e 32 BT B 24 f3s1 A He TS €1 30 Sl

gren 1 a1 & vd 18 AfEeisi grer 1 a1 & fbv e
BT & AL tharel: FT H[UTd g191 ?

A)10: (B)3:5
5c§5:4 (D)9:5
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Q82. 5 men can do a work in 6 days and 10
women can do the same work in 5 days. In how
many days the work is done by 5 women and 3
men?

5 q&y fdeft 11 &1 6 fAat A qe1 e asa &) wafeh
10 ARSIE 3& 5 foa1 A 1 B¢ ABA 21 5 ARSI
ggygaﬂﬁmmmaﬁﬁmﬂﬁaﬁw

(A) 10days (B) 8days

(C) 6days (D) 5days
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Q83. If 3 man and 5 woman can complete a
work in 8 days while 2 man and 7 children can
complete a work in 12 days. Then how many
women can do same work a day which is done
by 21 children?

afd 3 &y 30T 5 ARSIC v B &1 8 fAat A &e
Tdhd &, Adfh 2 M7 9= At s B 12 3F
A B2 Thd &, dl fhdelt AlZSIC v R A 3dem

&1 B Abdl &, fAde 21 95 Hea1 2

(B)15
(D) 20
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Q84. 3 men and 4 women together can earn
3,780 in 7 days, 11 men and 13 women can earn
15,040 in 8 days in how many days can 7 men
and 9 women earn 12,400?

3 e 4 ARSH Aowe 7 R & 2 3,780

He b g, NYSY A 13 ARSA 8 At A 2
15,040 3fAd &2 TFba ¢, 7 &9 30T 9 AR 2
12,400 fa5aat fRsit A 3ifca &e urdan 2

(A) 8 days (B) 12days

(C)10days (D) Ndays
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Q86. The total number of man, woman and
Children in a factory is 18. They get Rs. 4000 for
a day. If the ratio of wages of all man, woman
and children are 18: 10: 12 respectively and if
the ratio of wages of each man, woman and
children are 6:5:3 then find the salary of a
woman per day?

TS hacdl A el 3eal a2 gl &t o dal

18 21352 Wfdfest &1a1 Heat & A 4000 =UA fASA
21 af Foft smefAay, 3ieal gen =t & Ada &
Ae[UTd el 18 : 10 : 12 ¢ 3 af? uds 3neat,
3fed duT g5 & Adel &1 feUId 6:53 &, a A
HifAT v 3itea &1 vfdfds ddet fbaan & 2

(A) 2400 (B) 2250
(c) =150 (D) 2120
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Q87. 30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is.

30 Afth veh &1 B 40 ot A P21 e ABA &, Ueoq
24 35t & a1 30 AfHAT A A B A B BI3 2
d1hl S ZC BN o BT &I Y2l deal & ST 40 e

3 3T SR Biza ars aAfhal &t & T 82
(A) 24 {g)18 >

(c)12 (D




MATHEMATICS

. 28D

By Pradeep Sir

Q88. 50 men can complete a work in 28 days.
They started the work together, but at the end
of each 10th day, 10 men left the job. The work
was completed in how many days?

50 3Medl v B &t 28 Rar A PR1 H¢ ABA 2|
Jegial Th A1 fAGHe B dHeall, Ugog Udd 109
fast & 3id & 10 et &S B 23 B & fbaa
st A gergamaom?

(B) 38
(D) 45
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By Pradeep Sir

Q9. If 6 men and 8 boys can do a piece of work

in 10 days while then 26 men and 48 boys can

Ké _'_&9 do the same in 2 days, then what is the time
14 ‘ oD taken by 15 men and 20 boys in doing the same

f work?
(Rém«n—wab) c 2> uéeou;;ﬁsﬂzsmmmaﬂloﬁmim
Tda &, Adfh 26 e 312 48 T 32t &1 B 2
@ R RAfAscasat al 15 3meaft 3T 20 S3a! & 3t
mteb)lo = (2Cmiure)xa mmmmﬂﬁmmmm

o g | § e
ISMy-20b &M =(4b
}:_‘\il . ™Mb = Q1)
il
¥
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By Pradeep Sir

Q92. To do a certain work, B would take time
thrice as long as A and C together and C twice
as long as A and B together. The three man
together complete the work in 10 days. The
time taken by A to complete the work
separately is?

TP BIA Bl BHeol A B DI, A dAT C & TH AT Heol
& gent A HIAT SIET £ 3T C B, A GATB

& TH a1 &t A TG SITET 2
 gfe di=t TS AT 38 HTA B1 10
A HHS A B 92 BT HTat & (b dall FT SIM

4

(A) 20 ((8) 24 >

(C) 22 D) 36
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By Pradeep Sir

Q93. A takes three times as long as B and C
together to do a job. B takes four times as long
as C together to do the job. If all the three,
working together can complete the job in 24
days, then the number of days, Alone will take
to finish the job is.

TP DI Bl Bl & AT A D, BIATC & TH AT
®Heot Bl qodell A fAI[elT T HITaT ¢ 3T B &I, A

mcﬁmmamﬁqmﬁmgnm
1T 21 afe il safes v arel 38 &1a i 24 2
& PRT e TADA &, dl A AP 38 B & fbaa =
AP BN ?

(a) 100 (B) 96>

(c)120 OED
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By Pradeep Sir

Q94. A contractor take a contract of
completing a road in 25 days and employee 28
labours. After 18 days only 2/3 of work get
completed then how many more labours
should be employed to complete the work on
time he has to employ?

TS Sbare fhdl T3d Bl 25 Rl A fAafor Heat i
fAederdt dar 2 3z 28 [ &1 BT T2 SIAT ¢

18 RA S gz e&ar ¢ & Pds 2 QW%M
38 3 AT U2 HIA araa}
FAIGE HIH U HIMMat

YKL
(c) 32
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By Pradeep Sir

Q95. A contractor undertakes to do a piece of
work in 96 days. He engages 100 men at the
beginning. But in the 1/6 of the scheduled time,
1/7 of work is completed. How many additional
men should be employed so that the work will
be completed in time?

faseft Sdbare o fabeft &1 &1 96 fda A U1 Feat &
f&e 100 &t fdeg fAufRa Jea & 1/e

HIT A B 1/7 BT E3HTI HTHA DI HAT UL Y2T Heol
& fRu snifara ifafd FAviee) &t e -

(B) 20>

D)10
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Q100. A contractor employed 200 men and 5/6
of total work completed in 10 days. Due to rain
the work was stopped & 2/5 of work was also
destroyed, After rain only 150 men come on
work. In how many days the whole work will be
completed?

T® sdale 200 ATefAal & &1 10 f3at & @ &1
&1 5/6 AT Hedl 21 I9f 21 & TAE A BIA &b

Tl 21 fAd BT 2/5 HTH ABRE & AT 21 a9 &
d1< 150 AR B HIHA U SINAT ATdT &, af Ia10

1 ST fhdet fail A T el ?
(8)17
(c)15 (D) 16
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Q102. Two pipes A and B can fill a tank in 6§

minutes and 12% minutes respectively. In how

much time the tank will be filled by these pipes
if they are opened together?

a1 UT$y A 312 B TS & &I wael: 6 fAete 32 12;

fRete & ofz aFHa 21 af 2t uTdy ve @ WS e
ATC Al & B! 3T A B dal AHT BIIM ?

(A) ﬂ min (B) -w—omm

(9] ﬁ min (D) 20 min
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By Pradeep Sir

Q103. A pipe can fill a tank in 5.5 hours and a
second pipe can empty it in 4.4 hours. If both
pipes are opened together, then how much
Ky time will it take to empty the tank completely?

T U2y bt €t 1 5.5 gve A et & o AHar 2
2R 3z T B PIE g UEY 4.4 U A TSI B
S sl g1 afe <t quiaan ot g€ & site el urdar
&1 @i f&ar e, at &6t fhaa aaa & @At 2@t

L('"\:QQ et -

(A) 5 hour/a0e (B) 22 hour/=ve
(€) 4 hour/[a0e (D) 10 hour/=ve
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MATHEMATICS

By Pradeep Sir

Q104. A pump can fill a cistern in 2 hours.
Because of a leak in the cistern it took % hours

to fill it. If the cistern is full, how much time will
the leak take to empty it?

v U el Eht &Y urett & 2 g2 A e Idar 2
bt A uref Raat & sae! ezl & 2- HUe &914 21
aagféiﬁ,maﬂﬁaaasmﬁmﬁmﬁm

groreft 2

(A) 15 hour

(C) 10 hour (D) 12 hour
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QI105. Pipe A and B running together can fill a
cistern in 6 minutes. If A takes 5 minutes less
than B to fill the cistern, then the time in which
B alone can fill the cistern will be?

UTET A 3i12 B U AT TH bl &l 6 fAae A are
THd £1afe A Ehl B aigal A B A 5 [Aee HHA T
ST 2 al B IS ST Echl Bl I}

(B) 10 minute

(C) 30 minute (D) 25 minute




